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1) An unopened water bottle has a temperature of 5.00°C and a pressure of 2.00 atm. After it

was put in the freezer the temperature lowered to —1.00°C. What was the pressure of the

water bottle after being put into the freezer? To 423215 = 97225k P
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2) A ball contained 20.3 L of air at a temperature of 30.0°C. The ball was brought inside,
where the temperature is 40.0°C. Calculate the change in volume.
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3) A balloon has a volume of 57.0 L when held at a pressure of 15.0 atm. When taken to a
pressure of 23.0 atm, what is the new volume?
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4) On a hot day of 40.0°C on a camping trip, my air mattress has a volume of 67.0 L and
™2.73 moles of gas when I first blew it up. After three days of sleeping on it, it had lost 20.0 L
of its volume. How many moles of gas were left in my mattress after three days? 3ok
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5) How hot of temperature will a Z. 1 bubble have to get to in order to expand to a volume
0f200.0 L? Assume that the initial temperature of the bubble is at 15.0°C.
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6) One day in the land of Shawnland, a girl named Hanna was trying to find the volume of a
balloon after a pressure change. The original volume and pressure were 2.00 L Yhnd 3.00 atm. '
If the pressure is reduced to 1.10 atm, without a change in temperature, what is the new

volul\}le of the balloon? P>
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7) A 33.0 L ball contains 9.80 moles of gas. If 17.0 L of gas are removed from the ball, how
many m%guemain? V=23 0-Rre = |C.oL
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8) The number of moles and volume of a gas are being held constant in a tire. At 80.0°C, the
pressure of the tire is at 1230 KPa. What was the pressure when the temperature was at
40.0°C. A A
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9) If I have 24.6 L of gas at a temperature of 34.8°( g° C and a pressure of 45.8 atr atm what will the
temperature of the gas be if the pressure increases cases to 123 atm and the volume decreases to
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10) Find the number of moles of CO, gas if you have 6. 98 L of it at 34. 9°C and a pressure of
0.91 atm. ALSO, calculate the number of molecules of CO, gas.
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